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Estimating Weight: Reavier or Lighter

Complete the following statements by selecting the correct answer
from the drop-down list.

’\
)
The apple is than the cherry. :';

The bee is than the honey.

The broccoli is

The hen is
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True or False?

The cactus is heavier than the banana.

True False

The watch is heavier than the anchor.

True False

The slipper is lighter than the boot.

True False

The pen is heavier than the printer.

True False

The onion is lighter than the pepper.

True False

The potato chip is lighter than the potato.

True False
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